THIS SIDE UP FOR LHR DOOR

(2x) METAL: DRILL/TAP FOR 1/4"-20
MACHINE SCREWS.
WOOD: PRE-DRILL 1/8" HOLES.

PLACE THIS SIDE ON FRAME STOP

PLACE THIS SIDE ON DOOR

/FOLD HERE
CAUTION

DO NOT USE DOOR EDGE!

4700 RIM PANIC RATED EXIT DEVICE

STANDARD TEMPLATE

(FOR PANIC RATED DEVICES ONLY)
(

(2x)METAL: DRILL/TAP FOR 1/4"-20 MACHINE SCREWS
TRIM OR SEXBOLTS: DRILL 5/16" CLEARANCE HOLE

ON PUSH SIDE, 3/8" HOLE ON PULL SIDE
WOOD: PRE DRILL 1/8" HOLES

FOR TRIM DRILL 1/2" CLEARANCE HOLE.

REV: 01)
DWG NO: T-ED00317

(2x) METAL: DRILL/TAP FOR 1/4"-20 MACHINE SCREWS
WOOD: PRE-DRILL 1/8" HOLES
SEXBOLTS: DRILL 5/16" CLEARANCE HOLE ON PUSH SIDE,
3/8" HOLE ON PULL SIDE.

.
\I \\\ \\\ ! B : :
| [ 11
21/2" | ‘/ ‘/ i i_lL T T
[
[64] T i ! ! i+ D 13/16
! ! € OF DEVICE AND STRIKE \ \ . L [30]
- - - -+ T - - - - T T - - bt B | L4 - -
: ! \ \ i | | "
! | \‘ \ Ui || 1932
o | | \ \ l :_I) I [15]
oo —- | / / Nive NN
! 17/16" ! \" \‘/ ! :: e I *
| (371 R | \ \ i
r ju) o T --1J
| \ \
' e et S A s g
,E / e
‘l‘——‘l s b ’/
DRILL/TAP FOR 1/4"-20 I b} AFTER EXIT DEVICE IS CUT AND
AND INSTALL SCREW | (IR N 4 MOUNTED, INSTALL END CAP
AFTER FINAL ADJUSTEMENTS. a = | BRACKET CENTERED ON DEVICE ¢
O | |
5l \ i 40" [1016]
w | @ \ ! RECOMMENDED HEIGHT MAY BE
S | 8 q A DETERMINED BY DESIGN SPEC'S
5 L
29/32" -
(23]
ADJUST FOR | 5 1/4" !
BEST FIT -2 H——
FINISHED FLOOR
. | & HOLE LOCATIONS
PRIMARY DIMENSIONS SHOWN IN INCHES,
DIMENSIONS IN [ ] ARE MILLIMETERS.
! | HAGER

d00d dHY 404 dN 3dlIS SIHL

HAGER COMPANIES 139 Victor Street, St.

COMPANIES
ST. Louls. MISSoURI

Louis, MO 63104 (800) 325-9995 Fax (800) 782-0149



	Sheet1
	Drawing View1


